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Quick Review

»  The Pythagorean Theorem applies to right triangles.
»  An algebraic equation for the Pythagorean Theorem is * = @ + B, where h is
length of the hypotenuse and a and b are the lengths of the legs.
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You can calculate how high up the wall the ladder in the diagram reaches

the

> Youcan apply the Pythagorean Theorem to problems involving right triangles. -

using the formula #* = 2 + B

Since the length of the ladder is the hypotenuse of the right triangle,
we label it h. The lengths of the two legs of this triangle are

labelled g and &.

Substitute b=4and h=10into * = & + b f=10m
10=a+4
100 =a*+ 16 ,
100 -16 =a*+ 16 - 16 b=4m [
84 =
N84 =g — G — 1
992 =4 It does not matter l
. . which leg is labelled a ’
a 1s approximately 9.2 m. The ladder reaches and which leg is i
approximately 9.2 m up the wall. labelled b,solong ~ §
i asaand b label
' ‘ the legs and h labels g
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